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QUESTION 1

Your company has discovered that it takes more than high quality, low cost, and differentiation to excel. It
also takes speed and flexibility. This calls for a different approach:

you are aware that the current process is not delivering acceptable results.

What would be the next activity after becoming aware?

A. Ability to succeed with Scrum

B. Desire to adopt Scrum as a way to address current problems

C. Promotion of Scrum through sharing experiences so that we remember and others can see our successes
D. Transfer of the implications of using Scrum throughout the company

Correct Answer: C

QUESTION 2

What is one of the most difficult challenges you face when transitioning your software development team to Scrum?
A. Introducing certain technical practices

B. Team members may already have their hands full

C. Too rapid improvements are possible

Correct Answer: B

QUESTION 3

For a cross-functional team, it is important that all skills, that are necessary to go from an idea to an implemented
feature, are represented within the team.

What consequence can this have when you start Agile Scrum?
A. Coaches must be hand-selected for new teams

B. Rapid improvements are no longer possible

C. The team size is slightly larger than desired

Correct Answer: C
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QUESTION 4

How can pair programming help with adopting Agile?
A. It helps recognizing who wrote which code

B. It is beneficial to knowledge transfer

C. It makes development faster and cheaper

Correct Answer: A

QUESTION 5

A Sprint planning is created in a Sprint Planning meeting. Anyone involved in taking a raw idea and turning it into a
functioning product should be present in this meeting.

Who acts as the facilitator for this meeting?
A. An Analyst

B. The Product Owner

C. The Project Manager

D. The scrum Master

Correct Answer: B
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